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NA—93—2024
FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION
APRIL/MAY, 2024
COST ACCOUNTING

Paper—(BC 3.2)

(Tuesday, 16-04-2024) Time : 2.00 p.m. to 5.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. :— (i) Question No. 1 is compulsory.

(i) Simple calculator is-allowed.

G) W % 1 _3IHeE ST
(i) 19 _IURIAAY ILEA SR,
1. From the following particulars, prepare cost sheet for the commodity ‘A’: 20

3

Opening Stock :

Raw materials 13,100

WIP 5,000

Finished products (1000 units) 16,000
P.T.O.
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( 2) NA—93—2024

Closing Stock :

Raw materials 21,000
WIP 10,000
Finished product (2000 units) 32,000
Purchases of Raw Materials 1,25,000
Carriage inwards 900
Direct wages 95,000
Rent and insurance of factory 35,000
Factory supervision 13,000
Sales of finished product 3,15,000

During the period 16000 units of commodity were produced.
Selling overheads are ¥ 1 per unit sold.

Calculate the net profit for the period and net profit per unit of

commodity ‘A’.

T qURTAEEd o%] ‘31’ 9 9Remd 9o TR w4

4
URYT ¥ :
Hod] GEdt 13,100
fopammoT % 5,000
4 s (1000 TH) 16,000
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HaluT @hel :

el T 21,000

fopammor % 10,000

i =g (2000 THF) 32,000
Tl Gl ©RET 1,25,000
AN dled Fd 900
gAY T 95,000
fmfot a2 3 fam 35,000
o Fidem 13,000
IRIEGRCES CIREED) 3,15,000

T FHAEAE 16000 Thehld UG hal.

Tash! AT T 1 WO fdehl Sholedl Ushahld Foel 376,

o~

R0 (1 1 1 B B = s ) e M 1 e o MR T e i £ R R i BT (-

From the following information, calculate levels of stock : 15

@) Average delivery time is 20 days

(1) Minimum delivery time is 15 days

(ziz) Maximum delivery time is 30 days

(fv) Maximum delivery time for emergency is 5 days

) Average consumption per day is 25 units
P.T.O.
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(vi) Maximum consumption per day is 35 units
(vit) Minimum consumption per day is 14 units

(viii) Re-ordering quantity is 600 units.

el Hifedi=a STER, 96l Rl TEl ST :

G e fome 9w 20 fiaw R

Gi) T fomw 9 15 fgaw o)

(i)  STE S faww de 30 feew oM

Gv) eGSR ST faao des. 5. feaw e
) I AR WS 25 JFeH R

(i) WG S aTR SRS 35 ey TR

(vii) THEMA IR TWS 14 ey TR

(viii) T-TEL "= 600 JhHeH_ .
Or
(ferem)
The following were the receipts and issues of materials during the month of

January, 2023 :
1, Opening stock 250 units @ Rs. 35 per unit

3, Issued 150 units

5, Received 140 units @ Rs. 35 per unit
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7, Issued 160 units.

9, Received 280 units @ Rs. 40 per unit
11, Received 120 units @ Rs. 45 per unit
13, Issued 370 units.

14, Received 220 units @ Rs. 50 per unit
15, Received 45 units @ Rs. 55 per unit
18, Issued 214 units

21, Received 40 units @ Rs. 60 per unit
25, Received 60 units @ Rs. 70 per unit
26, Issued 100 units

28, Issued 60 units

30, Issued 50 units

From the above information prepare store ledger using LIFO method.

SHERT 2023 A1 AR WS Wil o FREE qeiesH o
1, URY ®RY 250 JHed, & 35 Ul I

3, 150 gHeq S sl (Ffdia)

5, 140 gMeq i< oel & 35 Ul e X
7, 160 Ifeg S wa (fwid)

9, 280 FMeH W ;M & 40 Tl e

11, 120 JHeY U< &l & 45 Tt gfHe <X
P.T.O.
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13, 370 g ST &a (Fridi)

14, 220 IfFeq W< A T 50 Tl IS &

15, 45 Y Ud & . 55 Wdl gfe <X

18, 214 JHeq ST el (FTHI)

21, 40 gfeH 9 A, & 60 Wdl gfe
25, 60 JHEH U< A & 70 Gl JHE

o Con

26, 100 Jfeq ST et ()

28, 60 FMeq ST el (FTHI)

30, 50 gHeq S el (Fia)

Tl Hifedre e LIFO sl WS’ Jusit TF) <.

Calculate the earnings of a worker under the following methods : 15
@) Time Rate

(1) Piece Rate

(zii) _ Halsey Plan

@iv) Rowan Plan.

Wage rate = Rs. 3 per hour
D.A. = Re. 1 per hour
Standard Time = 60 hours

Actual Time 40 hours.
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Tee TEATIR  STHIeRM=AT A= 0T &
@ THI R 9gd

@) W U

(i) ed A
Guv) e IS
TS & = 3 ¥ ¥ dwW
HEME = 1% vfd qa9
i@/ gardi 9 = 60 @9
EERNINCE: = 40 T
Or
(ferem)

From the following particulars calculate the earnings of worker under straight

piece basis and the Taylor’s differential piece rate system.

Standard time per piece = 20 minutes
Normal rate per hour = Re. 0.90
In 9 hours day : A produced 25 units

B produced 30 units.
Differential to be applied :

80% of the piece rate below standard and 120% of the piece rate at or above

standard.

P.T.O.
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TTelTel TURTAEE STHIehT=AT ASli= Tes hUe Ugd S0 Jareea = Shriet TEaiar

TOET <0 @

TRl FEeSt fAuiia 9@

20 fafe

T AEEET =T 8 = 090 ¥

9 qrEre foemEy A ¥ 25 T Scdlied hidl 9 B ¥ 30 W Sedifed Ll
Aoy £ X A 9

T SCAGATIET hHT STHA T HREGU=A 80% THIU & FHIGI e fehen wmuat

ST T8 T hrEel=n 120% YA

Calculate the machine hour rate from the following information : 15

@) Rent of the department (1/4th of area is
occupied by the machine) 12,000 p.a.

(1) Lighting (out of 15 points, 3 points are

for this machine) 4,500 p.a.
(zii). Insurance 540 p.a.
(tv) . Cotton waste 900 p.a.
(v) Salary of foreman (1/5th of this machine) 15,000 p.a.
(vi)  Lubricant 360 p.a.
(vit) Cost of machine 13,500
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It is assumed from the past experience :
(@) That the working life of machine 10 years
b) That the machine will work 2000 hours annually

(c) That the estimated cost of repairs and maintenance will be ¥ 7,500

for the life

(d) That the machine consumes 5 units of power per hour, rate of power

is 15 paise per unit.

el Hifgdia®d I3 a9 U=t A &y

z
G)  faurma 9 (I 1/4 ST S @R) 12,000 wfq =l
@) W (15 Ui, 3 dide = @) 4,500 ¥fa o
Gii)  fom 540 Hfq =
(iv) HYH o 900 ufd =
(v)  HHeHH daT (1/5 A1 TARNA) 15,000 9fq =l
(Vi) ST B 360 wfq o
(vii) @l feRHd 13,500

Alie SYAEEd 3™ TR ®Ral 318 ol :

(31). = &E g 10 T IR

() I 9t 2000 T HH HAA

(%) FAE A ST Gokdl d O qoOmE & 7,500 T UgA

(¥) ¥ IF Tos den 15 U9 Ufd Uwheh YAl 5 ek YRRKiET AR .

P.T.O.
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Or
(fenem)

Determine Machine Hour Rate of a machine from the information given below :

@

(23]

(tii)

(v)

(v)

(v1)

(vii)

(viii)

Note :

3
Purchase price of machine 3,60,000
Freight and installation charges 40,000

Life of machine is 10 years @ 2000 working
hours per year
Repairs charges 40% of the depreciation

Consumption of electric power 10 units per hour @ 20 paise

per unit
Lubricating oil @ ¥ 8 per day of 8 hours
Consumable stores @ I 36 per day of 8 hours

Wages of machine operator @ ¥ 24 per day of 8 hours

The residual scrap value of machine is nil.

Qe
(1)
)

(219

feciean Aifgdiaed TehT =Rl HaEld 951 a9 <X il :

T wREl fREa 286,000
dEgH WIS o SR T T 40,000
T AT 10 I8 e O I ufa as 2000 9 HE wW
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Gv) TEEE W EEIET 40% Y

) for@ == AR, 9fd a9 10 THe 990 Ufd T 20 T S
(i) U q@ 8 AT Wi feEden ¥ 8 wHmI

(vii) SUNTT TRy 8 A Wid feawen ¥ 36 g

(viii) IF ATl AN 8 AT Wi feewren 324 WAL

T : I SR I I AR
5. Write short notes on any two : 10
() Objectives of Cost Accounting
(11) Objectives of Material Control
(zii)  Time keeping
(tv)  Incentive schemes.
HITHE S OreN few fawr ¢
G) U R 38
(@) it e 3EE

(i) « THF FiCon
(jv)  STSTR IS
NA—93—2024 11
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